BID NAME/NUMBER: CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



No. <u>A.</u>

	(0)										
	E SE			Saenz Utility LLC.	Contractors,	R&M Constru Development		Artillery, LLC	-	RDH	
				22290 N. FM	88	2035 N. Cent	tral Ave.	P.O. Box 107	'4	3149A Center	r Pointe Dr.
	7 00	С	ity, State:	Edcouch, TX	78538	Brownsville,	TX 78521	Edinburg, TX		Edinburg, TX	
	O NO NO		Phone:			(956) 551-10	89	(956) 316-08		(956) 627-618	31
	NDED IN		Fax:			,		,		(956) 386-028	39
			Contact:	Juan Saenz		Manuel Polar	nco Martinez	Joe Borjas		Yara M. Corb	
			Email:				developmentllc@				
						gmail.com		Joey@ArtilleryL	<u>LC.com</u>	yara@texascord	la.com
	DESCRIPTION:		UOM	Unit Price	Total Unit	Unit Price	Total Unit	Unit Price	Total Unit	Unit Price	Total Unit
٥.		Qty			Price		Price		Price		Price
	<u>A.</u>										
	Site preparation including clearing, grubbing, removal of all organic material, embankment and fine grading, shaping, and compacting to final elevations and grades, covering all disturbed areas as shown on the plans, in accordance with the plans and specifications, complete in place up to the specified limits.	19,500	SY	\$7.00	\$136,500.00	\$1.60	\$31,200.00	\$11.00	\$214,500.00	\$15.00	\$292,500.00
	Hydromulch Permanent Stabilization two step process for all areas disturbed as shown in the plans and specifications, including the necessary irrigation and watering until 70% stabilization, all complete in place per acre for	4	Acre	\$8,500.00	\$34,000.00	\$4,974.90	\$19,899.60	\$4,000.00	\$16,000.00	\$10,000.00	\$40,000.00
	60" ASTM C76 Class III Reinforced Concrete Pipe with rubber gasket joint, ALL DEPTHS, including trench excavation, trench protection, bedding and backfill compaction, and pavement repair where applicable as per the plans and specifications, complete in place per LF for	352	LF	\$430.00	\$151,360.00	\$437.99	\$154,172.48	\$500.00	\$176,000.00	\$750.00	\$264,000.00
	5" Thick Cast-in-Place Reinforced Concrete Rip/Rap, constructed to the plan limits shown on the plans including footings, drainage water management, removal and disposal of existing concrete riprap, all complete in place as per the plans and specifications, complete in place per SF for	150	SF	\$285.00	\$42,750.00	\$68.04	\$10,206.00	\$40.00	\$6,000.00	\$350.00	\$52,500.00
	18" Thick Rock Rip/Rap, constructed to the plan limits shown on the plans including footings, drainage water management, all complete in place as per the plans and specifications, complete in place per SY for	175	SY	\$280.00	\$49,000.00	\$207.05	\$36,233.75	\$200.00	\$35,000.00	\$87.50	\$15,312.50

BID NAME/NUMBER: CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



DESCRIPTION:

each for

place per each for

place per SY for

LF for

place per CY for

7' x 5' Reinforced Concrete Pre-Cast Junction Box, ALL DEPTHS, monolithic structure with pre-cast floor and orifices, manhole lid and cover, all complete in place as per the plans and specifications, complete in place per

7' x 5' Reinforced Concrete Cast in Place Conflict Box, ALL DEPTHS, monolithic structure including steel split casing, grout, seals, manhole ring and cover, all complete in place as per the plans and specifications, complete in

Pavement Repair/Reconstruction including removal and disposal of existing asphalt, 2" HMAC, 8" Compacted Stabilized Flexible Base, 6" compacted subgrade, concrete curb and gutter, all complete in place as per the plans and specifications, complete in

9 6 ft tall all hot dipped galvanized chain-link fence site security fence with colled razor wire including 3-12 ft double gate with lock and incidentals all complete in place as per the plans and specifications, complete in place per LF for

10 Remove and Replace Laydown Curb, all complete in place as per the plans and specifications, complete in place per the plans and specifications, complete in place per

11 Excavation for Detention Pond including stockpiling of earthen material at location, all to the limits, depths and dimensions all complete in place as per the plans and specifications, complete in

		0 11000		Inorto :		I		l n n u	
		Saenz Utility (LLC.	Contractors,	R&M Constru Development		Artillery, LLC.		RDH	
		22290 N. FM	00	2035 N. Centi		P.O. Box 107	1	3149A Center	: Pointo Dr
C	ity State:	Edcouch, TX		Brownsville, T		Edinburg, TX		Edinburg, TX	
C	Phone:	Lucoucii, 1X	70000	(956) 551-108		(956) 316-081		(956) 627-618	
	Filone.			(930) 331-100) 3	(930) 310-08	13	(956) 386-028	
		Juan Saenz		Manuel Polan	co Martinez	Joe Borjas		Yara M. Corbi	
	Email:	Juan Jaenz			levelopmentllc@	,			
	Liliali.			gmail.com	ic velopinentice	Joey@ArtilleryLL	.C.com	yara@texascordi	a.com
Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
1	EA								
		\$16,550.00	\$16,550.00	\$8,952.55	\$8,952.55	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
1	EA	\$19,780.00	\$19,780.00	\$26,984.81	\$26,984.81	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
25	SY	\$225.00	\$5,625.00	\$215.13	\$5,378.25	\$150.00	\$3,750.00	\$38.50	\$962.50
780	LF	\$55.00	\$42,900.00	\$59.70	\$46,566.00	\$100.00	\$78,000.00	\$125.00	\$97,500.00
50	LF	\$61.00	\$3,050.00	\$28.08	\$1,404.00	\$50.00	\$2,500.00	\$15.00	\$750.00
13,285	CY	\$13.50	\$179,347.50	\$8.25	\$109,601.25	\$20.00	\$265,700.00	\$4.00	\$53,140.00

BID NAME/NUMBER: CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



DESCRIPTION:

sum of

each for

12 Temporary Erosion Control

13 Traffic Control Management prepared by a Registered Professional Engineer in the state of Texas for the Traffic Control Plan, including the installation of Temporary Traffic Signs and Pavement Markings meeting Texas MUTCD Standard Requirements, all complete in place as per the plans and specifications, complete in place for lump

14 Water service connection repair from 8 inch main to property line, all depths including all necessary 1 1/2" service line relocation and reconnection of existing meter including all necessary fittings, adaptors, all complete in place as per the plans and specifications, complete in place per

Devices, all complete in place including but not limited to all required permits, preparation and implementation of SWPPP, management by the Contractor and the required submittals all complete in place as per the plans and specifications, complete in place for lump

								•		
			Saenz Utility (LLC.	Contractors,	R&M Constru Development		Artillery, LLC.		RDH	
			22290 N. FM	88	2035 N. Cent	ral Ave.	P.O. Box 107	4	3149A Center	Pointe Dr.
	Ci	tv. State:	Edcouch, TX	78538	Brownsville, T	X 78521	Edinburg, TX	78540	Edinburg, TX	78539
		Phone:			(956) 551-108	39	(956) 316-08°		(956) 627-618	31
		Fax:			()	<u> </u>	(,		(956) 386-028	
		Contact:	Juan Saenz		Manuel Polan	co Martinez	Joe Borjas		Yara M. Corb	
	Email		-		rmconstructiond gmail.com	evelopmentllc@	Joey@ArtilleryLL	.C.com	yara@texascordia.com	
Qty UOM		ИОМ	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
	1	LS	\$4,500.00	\$4,500.00	\$9,745.23	\$9,745.23	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00
			\$7,000.00	\$7,000.00	\$16,062.46	\$16,062.46	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00
	1	EA	\$4,500.00	\$4,500.00	\$3,731.18	\$3,731.18	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00

BID NAME/NUMBER: CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



DESCRIPTION:

15 Sanitary Sewer Service

place per LF for

place per each for

17 Removal and disposal of existing storm sewer structures, all sizes and depths, all complete in place as per the plans and specifications, complete in

Number of Days to Complete Work

Total Amount:
Addendums

Bid Bond

connection repair Tie-in to main, All Depths, with connection pipe diameters as per the plans, all as shown on the plans, including 6 inch diameter SDR 26 PVC sanitary sewer line for length indicated in the plans, clean out, concrete apron, connectors, grouting, backfill, repair of landscape area and irrigation system all complete in place as per the plans and specifications, complete in place per each for

16 Removal and disposal of 54 inch Reinforced Concrete Pipe, all sizes and depths, all complete in place as per the plans and specifications, complete in

No.

								•			
			Saenz Utility (Contractors,	R&M Constru Development		Artillery, LLC.		RDH		
			22290 N. FM	88	2035 N. Cent	ral Ave.	P.O. Box 107	4	3149A Center	r Pointe Dr.	
	Ci	tv. State:	Edcouch, TX		Brownsville, 7		Edinburg, TX		Edinburg, TX		
		Phone:	,		(956) 551-108		(956) 316-08 ²		(956) 627-618		
		Fax:			(111)		(,		(956) 386-028		
		Contact:	Juan Saenz		Manuel Polan	ico Martinez	Joe Borjas		Yara M. Corb	itt, PE, CEO	
		Email:			rmconstructiond gmail.com	levelopmentllc@	Joey@ArtilleryLL	.C.com	yara@texascord	ia.com	
	Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	
	2	EA	\$4,000.00	\$8,000.00	\$5,472.39	\$10,944.78	\$7,500.00	\$15,000.00	\$5,000.00	\$10,000.00	
	352	LF	\$110.00	\$38,720.00	\$80.73	\$28,416.96	\$40.00	\$14,080.00	\$25.00	\$8,800.00	
	2	EA	\$3,800.00	\$7,600.00	\$2,015.21	\$4,030.42	\$5,000.00	\$10,000.00	\$25.00	\$50.00	
t	:			\$751,182.50		\$523,529.72		\$901,530.00	0.00 \$874,015.0		
			Yes	s (2)	Yes	s (2)	Yes	s (2)	Yes (2)		

Lowest Responsible, and Responsive Bidder: <u>P&C Utilities and Construction</u>

Plese Note: Highlighted Numbers Denotes Calculation Error

No Response Entered

Yes

Please Note: Saenz Utility Contractors, found non-responsive, failed to submit all required forms.

120 Calendar Days

Yes

210 Calendar Days

Yes

180 Calendar Days

Yes

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



	ONDED IN	Pl	none:	(956) 424-347	14	(956) 239-762	24	(956) 586-911	9	(956) 412-610	00
	TEB 11		Fax:							(956) 412-610)1
		Cor	ntact:	Humberto Ga	rcia	Javier Vento		Carlos De la F	Rosa	George Oliva	res
		E	mail:	beto@2gsllc.con	<u>1</u>	jvrvento@aol.co	<u>m</u>	carlos.avigroup@	gmail.com	goexcavate@yal	noo.com
No.	DESCRIPTION:	Qty UO	M	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
	<u>A.</u>										
1	Site preparation including clearing, grubbing, removal of all organic material, embankment and fine grading, shaping, and compacting to final elevations and grades, covering all disturbed areas as shown on the plans, in accordance with the plans and specifications, complete in place up to the specified limits.	19,500	SY	\$6.50	\$126,750.00	\$15.38	\$299,910.00	\$10.00	\$195,000.00	\$8.00	\$156,000.00
2	Hydromulch Permanent Stabilization two step process for all areas disturbed as shown in the plans and specifications, including the necessary irrigation and watering until 70% stabilization, all complete in place per acre for	4 A	cre	\$8,500.00	\$34,000.00	\$40,000.00	\$160,000.00	\$15,000.00	\$60,000.00	\$12,300.00	\$49,200.00
3	60" ASTM C76 Class III Reinforced Concrete Pipe with rubber gasket joint, ALL DEPTHS, including trench excavation, trench protection, bedding and backfill compaction, and pavement repair where applicable as per the plans and specifications, complete in place per LF for	352 I	LF	\$460.10	\$161,955.20	\$425.00	\$149,600.00	\$375.00	\$132,000.00	\$474.16	\$166,904.32
4	5" Thick Cast-in-Place Reinforced Concrete Rip/Rap, constructed to the plan limits shown on the plans including footings, drainage water management, removal and disposal of existing concrete riprap, all complete in place as per the plans and specifications, complete in place per SF for	150	SF	\$47.00	\$7,050.00	\$12.00	\$1,800.00	\$200.00	\$30,000.00	\$28.33	\$4,249.50
5	18" Thick Rock Rip/Rap , constructed to the plan limits shown on the plans including footings, drainage water management, all complete in place as per the plans and specifications, complete in place per SY for	175	SY	\$250.00	\$43,750.00	\$85.00	\$14,875.00	\$200.00	\$35,000.00	\$167.29	\$29,275.75

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



	DED IN		Fax:	,		,		` '		(956) 412-610)1
				Humberto Ga	ırcia	Javier Vento		Carlos De la F	Rosa	George Oliva	
			Email:	beto@2gsllc.cor		jvrvento@aol.co	<u>m</u>	carlos.avigroup@		goexcavate@ya	
No.	DESCRIPTION:	Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
6	7' x 5' Reinforced Concrete Pre- Cast Junction Box, ALL DEPTHS, monolithic structure with pre-cast floor and orifices, manhole lid and cover, all complete in place as per the plans and specifications, complete in place per each for	1	EA	\$17,708.50	\$17,708.50	\$10,000.00	\$10,000.00	\$22,500.00	\$22,500.00	\$22,850.00	\$22,850.00
7	7' x 5' Reinforced Concrete Cast in Place Conflict Box, ALL DEPTHS, monolithic structure including steel split casing, grout, seals, manhole ring and cover, all complete in place as per the plans and specifications, complete in place per each for	1	EA	\$21,164.60	\$21,164.60	\$20,000.00	\$20,000.00	\$25,500.00	\$25,500.00	\$23,150.00	\$23,150.00
8	Pavement Repair/Reconstruction including removal and disposal of existing asphalt, 2" HMAC, 8" Compacted Stabilized Flexible Base, 6" compacted subgrade, concrete curb and gutter, all complete in place as per the plans and specifications, complete in place per SY for	25	SY	\$218.00	\$5,450.00	\$75.00	\$1,875.00	\$200.00	\$5,000.00	\$97.52	\$2,438.00
9	6 ft tall all hot dipped galvanized chain-link fence site security fence with coiled razor wire including 3-12 ft double gate with lock and incidentals all complete in place as per the plans and specifications, complete in place per LF for	780	LF	\$41.00	\$31,980.00	\$55.00	\$42,900.00	\$30.00	\$23,400.00	\$86.00	\$67,080.00
10	Remove and Replace Laydown Curb , all complete in place as per the plans and specifications, complete in place per LF for	50	LF	\$58.00	\$2,900.00	\$30.00	\$1,500.00	\$65.00	\$3,250.00	\$28.00	\$1,400.00
11	Excavation for Detention Pond including stockpiling of earthen material at location, all to the limits, depths and dimensions all complete in place as per the plans and specifications, complete in place per CY for	13,285	CY	\$10.50	\$139,492.50	\$18.00	\$239,130.00	\$5.00	\$66,425.00	\$12.51	\$166,195.35

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST

	E E E				2GS, LLC. Db Enterprise	erprise		G8		Go Underground		
					P.O. Box 595		10620 Cibolo	Dr.	12619 N. May	berry Rd.	211 W. Jeffer	son Ave, Ste.
	7000		City, St	ate:	Penitas, TX 7	78576	Edinburg, TX	78542	Mission, TX 7	78573	Harlingen, TX	78550
	NOEDIN		Pho	ne:	(956) 424-341	14	(956) 239-762	<u>!</u> 4	(956) 586-911	9	(956) 412-610	00
	JED III			ax:							(956) 412-610)1
			Cont	act:	Humberto Ga	rcia	Javier Vento		Carlos De la F	Rosa	George Oliva	res
			En	nail:	beto@2gsllc.com	1	jvrvento@aol.co	<u>m</u>	carlos.avigroup@	gmail.com	goexcavate@yah	100.com
No.	DESCRIPTION:	Qty	UON		Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
12	Temporary Erosion Control Devices, all complete in place including but not limited to all required permits, preparation and implementation of SWPPP, management by the Contractor and the required submittals all complete in place as per the plans and specifications, complete in place for lump sum of		1 LS		\$11,000.00	\$11,000.00	\$25,000.00	\$25,000.00	\$7,500.00	\$7,500.00	\$24,750.00	\$24,750.00
13	Traffic Control Management prepared by a Registered Professional Engineer in the state of Texas for the Traffic Control Plan, including the installation of Temporary Traffic Signs and Pavement Markings meeting Texas MUTCD Standard Requirements, all complete in place as per the plans and specifications, complete in place for lump sum of		1 LS	8	\$6,000.00	\$6,000.00	\$25,000.00	\$25,000.00	\$8,500.00	\$8,500.00	\$11,500.00	\$11,500.00
14	Water service connection repair from 8 inch main to property line, all depths including all necessary 1 1/2" service line relocation and reconnection of existing meter including all necessary fittings, adaptors, all complete in place as per the plans and specifications, complete in place per each for		1 E	A	\$4,815.00	\$4,815.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$11,500.00	\$11,500.00

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



DESCRIPTION:

15 Sanitary Sewer Service

place per LF for

place per each for

17 Removal and disposal of existing storm sewer structures, all sizes and depths, all complete in place as per the plans and specifications, complete in

Number of Days to Complete Work

Total Amount:
Addendums

Bid Bond

connection repair Tie-in to main, All Depths, with connection pipe diameters as per the plans, all as shown on the plans, including 6 inch diameter SDR 26 PVC sanitary sewer line for length indicated in the plans, clean out, concrete apron, connectors, grouting, backfill, repair of landscape area and irrigation system all complete in place as per the plans and specifications, complete in place per each for

16 Removal and disposal of 54 inch
Reinforced Concrete Pipe, all sizes and depths, all complete in place as per the plans and specifications, complete in

No.

		2GS, LLC. Db Enterprise	a Earthworks	Venser Contra	actors, LLC.	G8		Go Undergrou	ınd	
		P.O. Box 595		10620 Cibolo	Dr.	12619 N. May	berry Rd.	211 W. Jeffer	son Ave, Ste.	
Ci	ty, State:	Penitas, TX 7	78576	Edinburg, TX	78542	Mission, TX 7	'8573	Harlingen, TX	78550	
	Phone:	(956) 424-341	14	(956) 239-762	4	(956) 586-911	9	(956) 412-610	00	
	Fax:							(956) 412-610)1	
	Contact:	Humberto Ga	rcia	Javier Vento		Carlos De la F	Rosa	George Olivai	es	
	Email:	beto@2gsllc.com	1	jvrvento@aol.com		carlos.avigroup@	gmail.com	goexcavate@yahoo.com		
Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	
		\$4,280.00	\$8,560.00	\$1,800.00	\$3,600.00	\$3,500.00	\$7,000.00	\$9,750.00	\$19,500.00	
352	LF	\$117.70	\$41,430.40	\$50.00	\$17,600.00	\$100.00	\$35,200.00	\$24.00	\$8,448.00	
2 EA		\$4,066.00	\$8,132.00	\$3,000.00	\$6,000.00	\$9,000.00	\$18,000.00	\$12,000.00	\$24,000.00	
			\$672,138.20	\$	1,022,290.00		\$677,775.00		\$788,440.92	
		Yes	s (2)	Yes	(2)	Yes	(2)	Yes	(2)	
•		275 Caler	ndar Days	No Respons	se Entered	No Respon	se Entered	120 Calendar Days		

Yes

Plese Note
Please Note

Yes

Yes (Copy)

Yes

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



Site preparation including clearing, grubbing, removal of all organic material, embankment and fine grading, shaping, and compacting to final elevations and grades, covering all disturbed areas as shown on the plans, in accordance with the plans and specifications, complete in place up to the specified limits.

Hydromulch Permanent Stabilization two step process for all areas disturbed as shown in the plans and specifications, including the necessary irrigation and watering until 70% stabilization, all complete in place per acre for 60" ASTM C76 Class III Reinforced Concrete Pipe with rubber gasket joint, ALL DEPTHS, including trench excavation, trench protection, bedding and backfill compaction, and pavement repair where applicable as per the plans and specifications, complete in place per

5" Thick Cast-in-Place Reinforced Concrete Rip/Rap, constructed to the plan limits shown on the plans including footings, drainage water management, removal and disposal of existing concrete riprap, all complete in place as per the plans and specifications, complete in place per SF for

18" Thick **Rock Rip/Rap**, constructed to the plan limits shown on the plans including footings, drainage water management, all complete in place as per the plans and specifications, complete in place per SY for

DESCRIPTION:

No. <u>A.</u>

LF for

		•	,				
		The 5125 Cor	mpany	RBM Contrac	tors, LLC.	P&C Utilites a Construction	nd
		3914 Rio Gra	nde Care	2919 N. Keny	on Rd., Ofc-2	1213 Blake St	
Ci	ity, State:	Edinburg, TX	78541	Edinburg, TX		Mission, TX 7	'8573
		(956) 583-512		(956) 520-870		(956) 581-172	
	Fax:	,		,			
	Contact:	Pat Espericue	eta	Braulio Rios		Pedro Cantu	
	Email:	pe5125@aol.cor	<u>n</u>	rbmcontractors@	gyahoo.com	Pedro.Cantu@pa	ndcllc.com
Qty	UOM	Unit Price	Total Unit Price	Unit Price Total Unit Price		Unit Price Total Unit Price	
19,500	SY	\$10.00	\$195,000.00	\$7.00	\$136,500.00	\$1.25	\$24,375.00
4	Acre	\$3,500.00	\$14,000.00	\$11,500.00	\$46,000.00	\$9,100.00	\$36,400.00
352	LF	\$1,250.00	\$440,000.00	\$700.00	\$246,400.00	\$260.00	\$91,520.00
150	SF	\$200.00	\$30,000.00	\$225.00	\$33,750.00	\$150.00	\$22,500.00
175	SY	\$150.00	\$26,250.00	\$188.00	\$32,900.00	\$79.00	\$13,825.00

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



7' x 5' Reinforced Concrete Pre-Cast Junction Box, ALL DEPTHS, monolithic structure with pre-cast floor and orifices, manhole lid and cover, all complete in place as per the plans and specifications, complete in place per

7' x 5' Reinforced Concrete Cast in Place Conflict Box, ALL DEPTHS, monolithic structure including steel split casing, grout, seals, manhole ring and cover, all complete in place as per the plans and specifications, complete in

Pavement Repair/Reconstruction including removal and disposal of existing asphalt, 2" HMAC, 8" Compacted Stabilized Flexible Base, 6" compacted subgrade, concrete curb and gutter, all complete in place as per the plans and specifications, complete in

9 6 ft tall all hot dipped galvanized chain-link fence site security fence with colled razor wire including 3-12 ft double gate with lock and incidentals all complete in place as per the plans and specifications, complete in place per LF for

10 Remove and Replace Laydown Curb, all complete in place as per the plans and specifications, complete in place per the plans and specifications, complete in place per

11 Excavation for Detention Pond including stockpiling of earthen material at location, all to the limits, depths and dimensions all complete in place as per the plans and specifications, complete in

DESCRIPTION:

each for

place per each for

place per SY for

LF for

place per CY for

		The 5125 Cor	mpany	RBM Contract	tors, LLC.	P&C Utilites a	nd
						Construction	
		3914 Rio Gra		2919 N. Keny			
Ci		Edinburg, TX		Edinburg, TX		Mission, TX 7	
		(956) 583-512	25	(956) 520-870)7	(956) 581-172	25
	Fax:						
	Contact:	Pat Espericue	eta	Braulio Rios		Pedro Cantu	
	Email:	pe5125@aol.com	<u>n</u>	rbmcontractors@	yahoo.com	Pedro.Cantu@pa	indcllc.com
Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
1	EA						
		\$18,532.25	\$18,532.25	\$85,000.00	\$85,000.00	\$10,800.00	\$10,800.00
1	EA	\$30,000.00	\$30,000.00	\$95,000.00	\$95,000.00	\$48,900.00	\$48,900.00
25	SY						
		\$700.00	\$17,500.00	\$170.00	\$4,250.00	\$338.00	\$8,450.00
780	LF	\$47.00	\$36,660.00	\$48.00	\$37,440.00	\$32.00	\$24,960.00
50	LF	\$75.00	\$3,750.00	\$75.00	\$3,750.00	\$50.00	\$2,500.00
13,285	CY	\$3.75	\$49,818.75	\$7.00	\$92,995.00	\$9.25	\$122,886.25

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



DESCRIPTION:

sum of

each for

12 Temporary Erosion Control

13 Traffic Control Management prepared by a Registered Professional Engineer in the state of Texas for the Traffic Control Plan, including the installation of Temporary Traffic Signs and Pavement Markings meeting Texas MUTCD Standard Requirements, all complete in place as per the plans and specifications, complete in place for lump

14 Water service connection repair from 8 inch main to property line, all depths including all necessary 1 1/2" service line relocation and reconnection of existing meter including all necessary fittings, adaptors, all complete in place as per the plans and specifications, complete in place per

Devices, all complete in place including but not limited to all required permits, preparation and implementation of SWPPP, management by the Contractor and the required submittals all complete in place as per the plans and specifications, complete in place for lump

							P&C Utilites and		
			The 5125 Cor	mpany	RBM Contrac	tors, LLC.	P&C Utilites a Construction	ind	
			3914 Rio Gra	nde Care	2919 N. Keny	on Rd., Ofc-2	1213 Blake St	t.	
	C	ity, State:	Edinburg, TX	78541	Edinburg, TX	78542	Mission, TX 7	78573	
		Phone:	(956) 583-512	25	(956) 520-870)7	(956) 581-172	25	
		Fax:							
		Contact:	Pat Espericue	eta	Braulio Rios		Pedro Cantu		
		Email:	pe5125@aol.com	<u>n</u>	rbmcontractors@	@yahoo.com	Pedro.Cantu@pa	indcllc.com	
Qty UOM		UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	
	1	LS	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	
	1	LS	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$34,000.00	\$34,000.00	
	1	EA	\$2,000.00	\$2,000.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	

BID NAME/NUMBER: Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



	E E E E		The 5125 Co	mpany	RBM Contract	tors, LLC.	P&C Utilites and Construction			
				3914 Rio Gra	inde Care	2919 N. Keny	on Rd., Ofc-2	1213 Blake St	ī.	
	7000	С	ity, State:	Edinburg, TX	78541	Edinburg, TX	78542	Mission, TX 7	'8573	
	NOEDIN		Phone:	(956) 583-512	25	(956) 520-870)7	(956) 581-172	.5	
	TEB II		Fax:							
			Contact:	Pat Espericue	eta	Braulio Rios		Pedro Cantu		
			Email:	pe5125@aol.com	<u>m</u>	rbmcontractors@	yahoo.com	Pedro.Cantu@pa	ndcllc.com	
No.	DESCRIPTION:	Qty	UOM	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price	
15	Sanitary Sewer Service connection repair Tie-in to main, All Depths, with connection pipe diameters as per the plans, all as shown on the plans, including 6 inch diameter SDR 26 PVC sanitary sewer line for length indicated in the plans, clean out, concrete apron, connectors, grouting, backfill, repair of landscape area and irrigation system all complete in place as per the plans and specifications, complete in place per each for Removal and disposal of 54 inch Reinforced Concrete Pipe, all sizes and depths, all complete in place as per	352	EA	\$1,500.00 \$50.00	\$3,000.00 \$17,600.00	\$16,000.00 \$51.00	\$32,000.00 \$17,952.00	. ,	\$13,000.00 \$7,392.00	
	the plans and specifications, complete in place per LF for			Ψ00.00	ψ17,000.00	ψ51.00	ψ17,902.00	Ψ21.00	ψ1,032.00	
17	Removal and disposal of existing storm sewer structures , all sizes and depths, all complete in place as per the plans and specifications, complete in place per each for	2	EA	\$1,000.00	\$2,000.00	\$7,500.00	\$15,000.00	\$2,000.00	\$4,000.00	
	Total Amount	•			\$911,111.00		\$920,937.00		\$479,508.25	
	Addendums			Yes	s (2)	Yes	` '	Yes	(2)	
N	umber of Days to Complete Worl	<u> </u>			nse Entered	160 Caler		No Respon		
	Bid Bond			Y	es	Ye	es	Yes		

Lowest Re Plese Note Please Not

BID NAME/NUMBER: GLO CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



E MISSION											
Vendor Name: Street address:		Saenz Utility Contractors, LLC.		R&M Construction Development, LLC.		Artillery, LLC.		RDH		2GS, LLC. Dba	
										Earthworks Enterprise	
		22290 N. FM 88		2035 N. Central Ave.		P.O. Box 1074		3149A Center Pointe Dr.		P.O. Box 595	
		Edcouch, TX 78538		Brownsville, TX 78521		Edinburg, TX 78540		Edinburg, TX 78539		Penitas, TX 78576	
NOED IN	Phone:	Phone:		(956) 551-1089		(956) 316-0813		(956) 627-6181		(956) 424-3414	
	Fax:						(956) 386-02	89			
Contact:		Juan Saenz		Manuel Polanco Martinez		Joe Borjas		Yara M. Corbitt, PE,		Humberto Garcia	
	Email:			rmconstruction	ndevelopmentll	Joey@Artillery	LLC.com	yara@texascor	dia.com	beto@2gsllc.com	
				c@gmail.com		socy@/#tmery		yarae texasoor	alareoni	Sector Egonoroom	
DESCRIPTION of FORMS:											
Solicitation Signed		Not Included		Yes		Yes		Yes		Yes	
Terms & Conditions Included		Not Included		Yes		Yes		Yes		Yes	
Non-Collusive Bidding Certification		Not Included		Yes		Yes		Yes		Yes	
Subcontractor(s)/Subconsultant(s)		Not Included		Yes		Yes		Yes		Yes	
Pricing Schedule		Yes		Yes		Yes		Yes		Yes	
Addenda(s)		Yes (2)		Yes (2)		Yes (2)		Yes (2)		Yes (2)	
Gen. Business Questionare		Not Included		Yes		Yes		Yes		Yes	
References		Not Included		Yes		Yes		Yes		Yes	
CIQ		Yes								Yes	
Bid Bond		Yes		Yes		Yes		Yes		Yes	
									_		

BID NAME/NUMBER: GLO CDBG-DR Grant No. 23-152-003-E070

OPEN DATE: September 24, 2025 2:00 PM CST



MISSION						
Vendor Name:	Venser Contractors,	G-8 Utilities, LLC	Go Underground	The 5125 Company	RBM Contractors, LLC.	P&C Utilites and
	LLC.					Construction
Street address:	10620 Cibolo Dr.	708 N. 38th St.	211 W. Jefferson Ave,	3914 Rio Grande Care	2919 N. Kenyon Rd., Ofc-	1213 Blake St.
City, State:	Edinburg, TX 78542	McAllen, TX 78501	Harlingen, TX 78550	Edinburg, TX 78541	Edinburg, TX 78542	Mission, TX 78572
Phone:	(956) 239-7624	(956) 212-4572	(956) 412-6100	(956) 583-5125	(956) 520-8707	(956) 581-1725
Fax:			(956) 412-6101			
Contact:	Javier Vento	Alejandro Gomez	George Olivares	Pat Espericueta	Braulio Rios	Pedro Cantu
Email:	jvrvento@aol.com	A.GomezG8Utilites@gmail.co m	goexcavate@yahoo.com	pe5125@aol.com	rbmcontractors@yahoo.com	Pedro.Cantu@pandcllc.com
DESCRIPTION of FORMS:						
Solicitation Signed	Yes	Yes	Yes	Yes	Yes	Yes
Terms & Conditions Included	Yes	Yes	Yes	Yes	Yes	Partial
Non-Collusive Bidding Certification	Yes	Yes	Yes	Yes	Yes	Yes
Subcontractor(s)/Subconsultant(s)	Yes	Yes	Yes	Yes	Yes	
Pricing Schedule	Yes	Yes	Yes	Yes	Yes	Yes
Addenda(s)	Yes (2)	Yes (2)	Yes (2)	Yes (2)	Yes (2)	Yes (2)
Gen. Business Questionare	Yes	Yes	Yes	Yes	Yes	Yes
References	Yes	Yes	Yes	Yes	Yes	Yes
CIQ	Yes	Yes Yes		Yes	Yes	Yes
Bid Bond	Yes Yes (Copy)		Yes	Yes	Yes	Yes
· ·			·		1	